		Annexure	-1					
PO No #	MALS-PO-23-24-000058			Order Date :	20-Mar-24			
The above no mu	st appear on all challans, invoices and		Qu	otation / PI No:	Mail			
	cuments relating to this PO.			ation / PI Date :				
				Department:				
						RT LOUNGE SERVICES		
То :	HARMONY INTERNATIONAL 302,SATYAM CHS,MAROLI CHURCH, MAHUL ROAD, CHEMBUR EAST, MUMBAI-400074.			Billing Address :	MAIN_KITCHEN Terminal 2, Chhatrapati Shivaji International Airport, Santacruz East 400099, India			
Tel :	7977271899			Tel:				
Fax :				Fax:				
Contact Person :	Mr. Bharat			Contact Person:				
Mobile :	9823674722			Mobile:				
Email:	bharat@harmonyinternational.co			E Mail:				
GST No:	27AREPA2226M2ZY			GST No:	27AA	AICM8694D1Z0		
Pan No:	AREPA2226M			Pan No:				
We are pleased	t o confirm to provide the material/ser	vices as per details given be mentioned bel		rrange to supply	as per the delive	ry period and the terms		
Sr. No	ltem	Specp	UOM	Qty	Rate	Amount		
1	Black Slates	40 CM X 20 CM	Nos	46	₹ 775.00	₹ 35,650		
2	Salad Tongs	24 CM	Nos	46	₹ 120.00	₹ 5,520		
3	Buffet Laddle Underlier	26 CM	Nos	96	₹ 725.00	₹ 69,600		
				Basic Amount		₹ 1,10,770		
TERMS & CONDIT	rions			Discount in % (	or Amount	₹0.00		
				Subtotal after		₹ 1,10,770		
				Packaging & Fr	eight	₹C		
Payment Terms:				IGST/CGST/SG	ST @ 12%	₹ 8,352		
				IGST/CGST/SG	ST @ 18%	7410.6		
				GRAND TOTAL	-	₹ 1,26,533		
mount in words:	Rupees Only							
SPECIFIC TERMS	& CONDITIONS							
Warranty :	12 Months Warranty against manufact	uring defects						
Delivery :	Immediate							
	LS AIRPORT LOUNGE SERVICES							
		Approved By			٨١	uthorised By		
	i ichaica by	THE OVER BY			AL	anonseu by		

# **GENERAL TERMS & CONDITIONS**

# Definations

GOODS shall mean the materials, products or services to be purchased or to be supplied as specified in the PURCHASE ORDER and/or any part thereof.

PURCHASE ORDER shall mean the PURCHASE ORDER form, this document and any other document listed herein and shall constitute the entire agreement between the parties. SUPPLIER shall mean any person or company having a contract for the supply of GOODS to PURCHASER.

Price

The price along with other terms & conditions as mentioned in the above Purchase Order herein shall be binding to the seller.

# Delivery

Documents

The challan / Invoice should provide full particular of all articles with purchase order no. Obtain receivers signature and rubber stamp and attach copy of same with bill/invoices

## Warranty

SUPPLIER warrants to PURCHASER and its clients that the GOODS shall comply in every respect with any specifications, drawings and other data forming part of the PURCHASE ORDER and shall be free of defective materials or workmanship and is complete without any omissions. SUPPLIER shall be fully responsible for making good immediately upon being notified by PURCHASER any omission and defects in the GOODS or any portion thereof which may appear or occur during the warranty period

SUPPLIER shall ensure that the warranty is directly extended to the PURCHASER and, at the PURCHASER's option, the PURCHASER may exercise any of the warranty herein directly against the manufacturer of the GOODS and its agents.

SUPPLIER's liability hereunder shall extend to all damages directly cause by the omissions or defects, including incidental damages such as removal, inspection, costs of return or storage. SUPPLIER shall not be liable for any indirect, remote or consequential losses.

### License & Permit

If execution of the PURCHASE ORDER requires any license or other permit issued in the country of shipment and/or origin, the PURCHASE ORDER shall be conditional upon such license or other permit being available at the relevant time. SUPPLIER shall be fully responsible for obtaining the necessary license and permit.

### Confidentiality

Any PURCHASE ORDER placed by the PURCHASER including all accompanying designs, drawings, specifications and information which may be treated as confidential and in particular the SUPPLIER shall not make use of the PURCHASER'S NAME or the name of any companies associated with the PURCHASER for publicity purposes without the consent of the PURCHASER.

# Insurance

SUPPLIER shall effect and maintain at its own cost, all applicable insurances as required by law and to cover SUPPLIER's responsibilities and liabilities under the PURCHASE ORDER. Nothing contained herein shall serve in any way to limit or waive SUPPLIER's responsibilities or liabilities under the PURCHASE ORDER.

#### Safety

Where a service is being provided on property occupied by PURCHASER, SUPPLIER shall be responsible for the safety of all persons engaged on the work, and all persons who may be affected by activities of SUPPLIER and shall comply with all PURCHASER's safety regulations and procedures.

#### Waive

Any waiver by PURCHASER to any breach of the PURCHASE ORDER shall not constitute a precedent nor bind the parties to any subsequent breach by SUPPLIER.

### Force Majeure

Neither party shall be liable for any failure to fulfill any term of the PURCHASE ORDER if fulfillment has been delayed interfered with or prevented by force majeure. Force majeure may only be involved if the event preventing the fulfillment is due to no fault of the obligor, is not for his risk and has occurred since the obligation came into being.

# Liability &

## Indemnity

SUPPLIER shall be responsible for and shall indemnify PURCHASER from and against all claims, proceedings, demands and causes of action in respect of any damage, loss or injury (including death) to any person or property arising out of SUPPLIER's negligence, acts or omissions, without regard to whether any negligence, act or omissions of PURCHASER contributed to such injury, death or property damage.

### Change

PURCHASER reserves the right at any time to make changes in the PURCHASE ORDER or any part thereof.

No change to or modification of the items, specifications, terms, conditions and prices appearing in the PURCHASE ORDER shall be binding upon PURCHASER unless expressly agreed in writing by PURCHASER. SUPPLIER shall promptly notify PURCHASER in the event that any GOODS subject of the PURCHASE ORDER are affected by changes in drawings, specifications or design, but SUPPLIER shall not without prior written consent of PURCHASER incorporate any such changes in the order.

### Acceptance

In the case of GOODS delivered by SUPPLIER not conforming with the PURCHASE ORDER whether by reason of not being of the quality or in the quantity or measurement stipulated or being unfit for the purpose for which they are required, PURCHASER shall have the right to reject such GOODS within a reasonable time of their delivery and inspection and to purchase elsewhere and to claim for any additional expense incurred without any prejudice to any other right which PURCHASER may have against SUPPLIER. The making of any prior payments by PURCHASER shall not prejudice PURCHASER's right of rejection.

#### Termination

In the event of any breach of any of the terms and conditions of the PURCHASE ORDER including failure to deliver by the due date, then PURCHASER without prejudice to any other rights, may terminate the PURCHASE ORDER and may return GOODS previously supplied under the PURCHASE ORDER for full credit by SUPPLIER. In the event of termination due to non-delivery or non-acceptance due to SUPPLIER's breach of the terms and conditions hereof, SUPPLIER shall undertake to reimburse all monies paid by PURCHASER prior to the date of termination including all direct costs and expenses incurred by PURCHASER arising from or in connection with the termination.

MALS -Cutlery						Harmony II	nternationa	al	Namoson	s Hospitality	Orchid		
Sr. No.	Item	Specification	Unit	Qty.	Rate	Amount	Final Rate	Amount1	Final Rate	Amount	Rate	Amount	
1	Black Slates	40 CM X 20	Nos	46	775	35650	775	35650	807.50	37145	1063	48898	
2	Salad Tongs	24 CM	Nos	46	120	5520	120	5520	137.75	6336.5	170	7820	
3	Buffet Laddle Under	26 CM	Nos	96	775	74400	715	68640	760.00	72960	950	91200	
						Make	- Trinity				Ve	enus Profile	
	•		Bas	ic Amount		115570		109810		116441.5		147918	
			GS	ST @12%		8928		8928		8928		8928	
GST @18%				7410.6		7410.6		7410.6		7410.6			
Total Amount				131908.6		126148.6		132780.1		164256.6			

			yam CHS , /ahul Road ,0 Mumbai -	Maroli ( Chembur	Church,	L						
			09823674722									
	CLIENT DETAILS	<u>QUO</u>	TATION / PRO		R DETAILS							
	MUMBAI AIRPORT LOUNG MUMBAI	E		GST NO PAN	: 27A	REPA222 EPA22261 rat Hukur	N	Agarwal				
				DATE : 2	25.02.2024							
Sr.		CODE	INAACE	QTY	RATE	IG %	ST	C(	GST	-	GST	GOODS
No.	IN DESCRIPTION	CODE	IMAGE	IN NOS	PER PRICE	%	AMT	%	AMT	%	AMT	TOTAL
1	Black Slates	40 CM X 20 CM		46	775.00	18.00	0.00	9.00	3208.50	9.00	3208.50	35650.00
2	Salad Tongs	24 CM	K.	46	120.00	18.00	0.00	9.00	496.80	9.00	496.80	5520.00
3	Buffet Laddle Underlier	26 CM	M.	96	775.00	12.00	0.00	6.00	4464.00	6.00	4464.00	74400.00
TERM	ç .									GOODS	ΤΟΤΑΙ	115570.00
	<b>/ment</b> : 100% advance t	o confirm ord	ers.							IGST	TOTAL	0.00
	livery : Within 07-15 Da									CGST		8169.30
3) Bre	akages : covered ex our	<sup>-</sup> warehouse /	showroom.							SGST		8169.30
l) Fre	ight : Extra as per a	ctuals								TOTAL A	MOUNT	131908.60
5) PA(	CKING CHARGES EXTRA.									ROUND		0.40
										AMOU	NT	131909.00
	HARMONY INTERNA RAT AGARWAL - 0797		982367472	2								

					FORMA CUM										
To,					M/S. NAMOSONS HOSPITALITY					Date :				14th feb, 202	24
Mum	Mumbai Mals			GALA WAR	GALA WAREHOUSING ESTATE, NEAR DUTT MANDIR, T. J. ROAD, SEWREE,				BRAND:						
				_	MBAI - 400015					ТОР				100% ADVANCE PAYMEN	
					AMFN5005A1	ZO /	VAT	<mark>: 2763117</mark>							
				CONTACT:											
				EMAIL ID					nan	nosons.ari	iane@gmail.c	<u>com</u>			
Conta	ct Pers	on :		Delivery Period											
C	ct no :+	01		NOTE:				Transport	tation & P	roakagas	Resposibility	Porn		JF	
Conta	ct no :4	-91-		NOTE:				Transport		leakages	Resposibility	BUIII	e by rouise	<u>:</u>	
S No	HSN	Item Code	Description	Size/ Volume	Images	РКС		List	Disc.	QTY	Amount	GST	GST	Amount	STOC
5 140	CODE	item code	Description	Size/ Volume	ic inageo	FING		Price	Price	Pcs			AMOUNT	Amount	-
1			Black Slates	-			Rs.	850.00	807.50	46	37145.00	12%	4457.40	41602.40	
2			Salad Tongs	5			Rs.	145.00	137.75	46	6336.50	12%	760.38	7096.88	
3			Buffet Laddle Underlier	-			Rs.	800.00	760.00	96	72960.00	12%	8755.20	81715.20	
3															

8												
	•			•				116441.50		INR	1,30,414.48	
				Tai	nsporation Chai	rges extra	as actual			INR	(0.43)	
						N	ET TOTAL			INR	1,30,414.05	

Terms & Conditions :	BANK DETAILS	
Payment : 100% Advance   : Quotation valid for 2-3 DAYS   Validity   from the date of issue	Account : NAMOSONS HOSPITALITY   holder : Kotak Mahindra Bank   Address : 14, Dharamputra Dr. Babasaheb Ambedkar Road, Mumbai -400014   Branch : DADAR-EAST   Current A/c : 9412392437   IFSC Code : KKBK0001354   SWIFT Code MIRC   MIRC : 400485067   Delivery : Mumbai, at site   All Bank Charges to   the account : State	
	of the consignee.	
For Namoson Hospitality	Apr	proved By:

Q	UOTAITON			No.: 018	32,	Date	d:	05 Marc	ch 2024
	chid ORCHID No.310-32 Karol Bagh 495, Phase Tel :99991 E-mail : inf	0, V2 Wholesale I n, Delhi-110005 e IV, Sector 57, H 05091/92, 011-45 o@orchiddisplay. www.orchiddinex.o	SIIDC, Kundli, Sc 000132, 981133 co com	laswati Marg, I pnipat, HR 1538	Buyer : Mumba MUMBA E-mail :	i MALS			
Sr.		Photo		iption	Tax Rate%	Quant	ity	RATE INR	AMOUNT INR
1	224310IV	0	10BOWL IVORY Size : 0x0x0Cm IP/	/MP : 0	Kale //	96	Pcs		91200.00
2	3217ТВК1		TAROKO GRANITE Size : 0x0x0Cm IP/	SLATE 1/3 32*17CM MP : 0		46	Pcs	1060.00	48760.00
3	Y8C-692		GOLD TONG Size : 0x0x0Cm IP/	/MP : 0		46	Pcs	5 170.00	7820.00
						Tota	I INR	 1	147780.00
Terr (1)	al PCS: 3 m & Conditions : 100% Payment in A GST/PACKING/TRAN		AID BY EXTRA		For OF	CHID prized Sig	inato	Drv	